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20-25
26-30
31-35
36

6-10
- 15
16

346
318
664

105
219
226
114
664

157
308
141

58
664

166
498

664

52.10
47.90

100.00

15.80
33.00
34.00
17.20
100.00

23.60
46.40
21.20
8.70
100.00

25.00
75.00

100.00
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3
52.10 47.90
26-30 33.00 6-10
46.40 1-5 11-15 23.60 21.20
16 8.70 B
75.00 25.00
) )
4
min-max X S.D.
70 22 - 63 44 .85 9.00
49 19 - 47 35.65 6.40
49 16 - 47 33.77 6.92
49 14 - 43 27.65 6.62
42 14 - 3 26.59 4.70
42 7-31 20.95 6.12

301 111 -239  188.85 29.53



X

( =346)

S.D.

46.93 10.16

37.01
35.66
30.25
27.24
« 21.19

6.65
5.65
6.09
4.43
6.38

198.29 31.17

*p<.05

«

42.58
32.96
31.70
24.82
25.88
20.68

( =318)

S.D.

6.87
5.35
5.31
5.98
4.88
5.82

178.58 23.72

«

69

6.50*
8.81*
1.79*
11.57%
3.16%
1.07

9.21*

.05



60
60
60
60
60

300

( =664)

min-max

32 -
2 -
26 -
23 -
15 -

60
60
60
60
50

160 -273

48.95
45.60
44 .48
41.60
30.06

210.70

S.D.

9.34
10.09
9.30
10.00
1.47

31.16

on

70



( =346)
X SD.

53.13 8.64
50.99 9.79
4771 10.30
46.36 10.07
28.90 8.66
227.14 30.26

*p<.05

.05

.05

X

44 41
39.73
40.92
36.43
31.32

( =318)
$.D.

7.85
6.51
6.39
6.88
5.67

192.81 20.44

1

13.62*
17.58*
10.38*
14.94*

-4.29*

17.25%



40
40
40
40
40
35

230

min-max

23 -
22 -
19 -
19 -
18 -
12 -

40
40
40
39
35
35

128 -224

32.35
32.34
31.64
31.40
27.63
26.73

182.09

S.D.

4.20
4.57
5.43
4.19
3.96
4.57

24.07

72



X
34.03
33.98
33.50

1 33.19

1 29.40
27.96

192.06

*p<.05

( =346)
$.D.

3.39
4.18
4.38

3.21

3.18
3.65

19.38

3

30.52

30.55

29.61

29.45

25.71
25.40

( =318)
$.D.

4.24
4.30
5.73

4.25

3.83
5.08

171.24 2401

13

11.70*
10.41*

9.77*
12.69*

13.45%
1.41*

12.23*

.05



«

op(

10 1

.05

.05

31-35
4

20--25
( =105)
x  SD.

4.49
5.20
2.36

18.25
35.29
24.94

271.18 1.17
38.93 10.12

26-3

( -

X

20.59
32.96
25,51

25.62
43.73

0
219)
$.D,

1.04
1.39
5.04

6.91
1.95

30.35 533 3167 5.02

10

{
36

26-30

0

174.95 27.08 180.09 27.43

5

20-25
*

36

20-25

31-35
(= 226)
X

220 513
36.28 5.45
21.17 5.45

29.64 4.65
45.68 8.46

35.37 7.69

196.76 30.06

SD.

36
(: 114)

X SD.

22.0 6.55
36.36 6.07
27.86 2.65

28.03 7.60
50.79 6.64

37.74 6.90

74

F
10.90*
12.89*
16.72*

14.91*
32.29*

36.96*

242.8 2318 32.01*
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11

1-5 6-10 11-15 16
(= 157) ( =308) ( =141) ( =58)
X SD. X SD. T 0. 3 0. F

« 21,11 502 1997 6.6 2377 57 1879 4.67 16.06*
33.62 6.47 3538 637 3413 573 39.36 5.84 13.34*

26.65 3.61 2628 551 2678 435 27.62 3.08 146
2556 7.68 2755 554 2840 584 29.86 8.90 8.49*
42.36 9.66 4420 922 47.02 625 49.70 8.80 13.61*
3227 434 3278 706 3668 7.78 3591 7.0 15.64*
18159 27.71 186.58 31.58 196.78 23.37 201.25 28.92 11.05*

*p< .05
1

«

05

1-5 6-10
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05 6

] 15 3
1
( =166) ( =498)
X SD. X $.D. t

4576 719 44,54 551 150
3434 759 33.57 668 116
3376 6.54 35.46 629  -2.93
2628 642 28.11 662  -3.08*
2621 532 26.69 448 -93
2063 4.96 21,05 646 -89
18708 2655 18944 3045  -095

PC.05

12

05



«

Hpow
Rewa
Coer
Ligit
Refer
Exper
Npow
Trans
Inter
Advo
Heal
Parti
Prob
Age
Exp
Satis

»

«

»

»

«

»



13 « « « €« « « «

n—-—-

Satis Hpow  Rewa  Coer  Legit  Refer ~ Exper  Npow  Trans  Integ  Advo  Heal  Parti  Prob  Age s

« €« Satis 1.000
€« « Hpow 518*  1.000
o " Rem 5686 867% 1,000
Coer -213* -599* -.690* 1.000
« ) »  Legit A73% 596*  831* -.609* 1.000
Refer 330%  904* 722 - 743*  843*  1.000
« « Bxper A37% 926 752%  -729*  851*  .950*  1.000
« Npow -002  -356* -207* L 130% -427% -253%  -339% ...
Trana -017  -363* -195*  124* -4509* -256* -323* 898 e
« Integ 203% -213* -136* . 180* -.261* -210*  -275* 8b5% T84 L .o
«  Advo -295% -599* -407*  283* -.628* -424*  -526* 917 821x  684* L ..o
« «  Heal 080 -008 071 -257* -.078 144% 086 804* 652 574*  656* . ..o
Parti -013  -467* -332*  309* -516* -408* -.474* 919*  780*  .732*  .853*  .714* 1.000
«« Prob 080 -142* 015 -024 -212* -060  -158* 872 T12% J736% 773 687* .710*  1.000
Age 315% 173 215 -.014 148 126 059 329 210% AT3% 119 228% 242¢ A445% 1,000
« Exp 198*  -.216%  -.052 1200 -233% -256%  -.249* 232% 288 268 .160* 076 @ .231* 194% 690 |.(

* p<.05
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05

« «

«

05

05

«

05

«

05

05

05

79

.05

«

.05

.0

«
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» »
«  »y Satis
»  Hpow
Rewa
«  Coer
» Legit
Refer
« » Bxper
» Npow
« Trans
» Integ
Advo
» * Heal
Parti
»  Prob
Age
oo Bxp

» »

Satis

1.000
362%
A44x

- 480*
263*
335*
422*
254*
. 166*
218%
154*
398*
228*
. 183*
204*
144%

Hpow

1.000
804*
-.953%
183*
.899*
918*
236%
303*
285%
226%
389*
073
014
-.358*
-429*

Rewa

1.000
-463*
610%
551*
.608*
. 108*
. 169*
A121%
112*
306%
-.084
013
-178*
-.298%

Coer

1.000
-831*
-.569*
-616*
-397*
-.338*
-.349%
-416*
-496%
-.254*
-214%
208
203*

Legit

1.000
676%
142*
333*
31T*
.268*
.355%
406%
A172*
221%

-311%

-.329%

Refer

1.000
.869*
264*
262*
299*
216%
A410%
162*
007

-.358%

-402%

Exper

1.000
329%
384*
A440%
211%
439*
175%
038*

-.381

-403%

Npow

1.000
839*
850*
912*
924*
876%
.858*

-.210%

-136%

Trans

1.000
641*
1T
T72*
604*
679*

-.239%

-197%

Integ

1.000
144%
1170%
678*
.605*

-.253%
-.234*

W |

Advo

1.000
847*
130%
129*

-.286%

-179*

Heal

1.000
161*
142%

-.218%

-121%

Parti

1.000
71

-.057

033

Prob

1.000
-.084
-.046

Age

Ex

1.000
887 1.
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05

05

05

Sl

05

05

.05

05



5 « «
15 !
(b) (Beta)Nmr
b SEb

« (Exp) 12,1455 2.5650
(Rewa) 16490 2119
(Heal) -2020 6974
«  (Integ) 5.0471 5367
(Coer) 10768 2091
(Prob) 2.8261 6617
(Age) -§.8081  2.4528
(Exper) 25924 3824
1 (Trans 1-1.4090 6728
(Parti) 37232 5534
(Legit) -9647 2922
(Advo) -1.9364 7769
(Refer) -1.2373 4363
(Constant) 29.6326 23.1863
R= .8564 Rz = 7334 F =

*P <05

«

«

13

Beta

2137
9325
-.0206
2938
2992
3073
-.2551
1909
-.1452
9231
-.3187
-1.0637
-.3430

70.26*

$2

t

4.735*
1.781%
-.290
9.453*
5.149*
4.211*
-3.591*
6.587*
-2.094*
6.727*
-3.301*
-10.214*
-2.836*
1.278

«

«
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16 { (R)

Stepwise solution

Rewa

Rewa.Integ

Rewa,Integ,Advo

Rewa,Integ,Advo.Parti
Rewa,Integ.Advo.Parti.Legit
Rewa.Integ.Advo.Parti.Legit.Exper
Rewa,Integ,Advo.Parti,Legit.Exper.Coer
Rewa,Integ,Advo.Parti 1L egit.Exper,Coer
Refer
Rewa.Integ,Advo,Parti,Legit.Exoer.Coer
Refer.Prob
Rewa.Integ,Advo,Parti,Legit,Exper,Coer
Refef.Prob.Exp
Rewa.Integ,Advo,Parti,Legit.Exper,Coer
Refef,Prob,Exp,Age
Rewa,Integ,Advo.Parti,Legit,Exper.Coer
,Refef,Prob,Exp,Age, Trans

* p<.05

(R2

5483
6250
1414
1'892
. 19"3
8083
8281

8386

844"

8486

8542

8563

I(R2)
Change) ,

R2

3007
3907
9496
6229
6357
6534
6858

1033

-136

1202

1298

333

2 Change

3007
0900
1589
0733
0128
0177
0324

0175

0103

0066

0096

0035

F

14".93*
109.98*
139.15*
140.55*
118.66*
106.52*
105.41*

99.39*

93.02*

56.25*

82.02*

16.32*
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16
(Rewa)
05
a 3007
30.07
2 (Integ)
3907 (R2 = .3907)
05
39.07 HM
9.00 (R2 change =.0900)
3 (Advo)
5496( R = .5496)
05
54.96 I
15.89 (R2change
=.1589)
4 (Parti)
6229( R =.6229)
05

62.29
7.33
(R2 change =.0733)
5 (Legit)
6357( R2 =.6357)
05



36

63.57
1.28(R2 change =.0128)
6 a {y(Exper)
6534( R2 .6534)
05
(Exper)
65.34
1.77(R2 change =.0177)
1 (Coer)
6858 (R2 = .6858)
05
68.58
3.24 (R2 change =.0324)
8 (Refer)
.1033( R2 = .7033)
05
70.33
1.75(R2 change =.0175)
9 (Prob)
71136 (R2 change = .7033)
05

« 71.36



10
1202 (R2 change = .7202)
« 05

«

12.02
.66 (R2 change .0066)
1 (Age)
1298 (R2 change = .7298)
05
= .0096)
12
71333 (R2 change  .7333)
05
73.33

1.03 (R2 change
(Exp)

(Trans)

35 (R2 change = .0035)

= .0103)

72.98
.96(R2 change



17 |
(Beta)wa «
«
Beta b
(Rewa) 2067 5367
0 (Integ) 5347 5951
(Advo) 7248 -1.0745
(Parti) 43465097
(Legit) 2981 - 3225
« (Exper) 3546 7780
(Coer) 1838 3071
(Refer) 4293 - 3370
(Prob) 0586 .3090
(Exp) 25560 2748
(Age) 24330 - 2575
(Trans) 6718 - 1454
R = .8563 S.E.e8t = 16.38
R = 7333 Constaint = 29.11
Overall F = 76.31*
*P <05
17 qRi
arg | 8563
0 « 12

«

«

S.EEb

1.6622
5.0849

-8.0167

3.6241

- 9761

24781
1.1056

-1.2157

2.8411
12.1940
-6.8902
-1.4103

8. 040*
9. 509
~11. 059*
8. 339
-3. 376%
6. 988"
6.014*
-2.832%
4, 315*
4. 771*
-3. 654*
-2.099*

«

S

12

« KU
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«

«

05 «

«

Y' =29.11+ 1.662 Rewat5.084 Integ- 8.016 Advo +3.624 Parti
-0.976 Legitl+ 2.478 Exper + 1.105 Coer - 1.215 Refer
+ 2.841 Prob + 12.194 Exp - 8.890 Age

Z' = 536 Rewa + 595 Integ - 1.074 Advo + .509 Parti
- .300 Legit + .778 Exper + 307 Coer -.337 Refer
+.309 Prob + 274 Exp -.257 Age - .145 Trans



« 18
(Beta)wa

(Exp)
(Parti)

(Rewa)
(Coer)
(Trans)
(Refer)
(Integ)
(Prob)
(Advo)
(Kegit)
(Age)
(Heal)
(Exper)
(Constant)

R = .8563

e P <05

69.88

-3.6437
3585
1.0754
-3.2759
-1.3934
-1.1196
-2.2904
1.8272
6358
-4.0143
11.1556
1.6015
40931
246.9672

SEb  Beta
2.1504 - 1556
2127 0866
1968 3117
2767 - 7826
3877 - 2498
2537 - 3702
3430 - 4908
4007 3263
4673 1151
3166 -1.0808
21763 4529
6.832 2584
4097 1.1235
19.7782

R2 = 6988 F = 54.25*

13

90

t

-1.694*
1.315*
5.464*

-11.840*
- 3.594*

-4.410%

-6.677%
4.560*
1.361

-12.675*
5.126*
2.344%
9.989*

12.487
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05

7
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19 ] »

»

Stepwise solution

Coer

Coer,Age

Coer,Age,Rewa

Coer ,Agr,Rewa.Legit

Coer,Age,Rewa, L egit,Exper
Coer,Age,Rewa.Legit,Exper,Prob
Coer.Age,Rewa,Legit,Exper,Prob,Integ
Coer,Age,Rewa,Legit,Exper,Prob,Integ,
,Refer
Coer,Age,Rewa,legit,Exper,Prob,Integ,
IRefer, Trans
Coer,Age,Rewa,Legit.Exper,Prob,Integ,
,Refer, Trans,Trans,Heal

* p<.05
19
» (Coer)

2299

R) >
a(R2)
(R2 Change)
R R2 R Change
4795 2299 2299
5688 3235  .0936
6344 4024 0789
7163 5131 1107
J771 6039 .0908
J977 6364 0325
8199 6717 0353
8238 6787 0070
8309 6904 0117
8336 .6949  .0045
05
» »
22.99
ge) ]

92

F

94.37*
15.33*
70.50%
82.47*
95.13*
90.73*
90.61*

81.62*

68.48*

63.38*
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.3235(R2=.3235)) « «
05
32.35
9.36 (R2 change =.0936)
3 a (Rewa)
I« « 4024 (R2=.4024)
« « .05
(Rewa)
¢ 40.24

7.89(R2 change = .0789)
4 « (Legit)
a 5131 (R2=.5131) | «
« 05

51.31

11.07(R2 change = .1107)

5 « (Exper)
« 06039(R2=.6039) ~ A | 1 a
« .05
60.39
9.08(R2 change = .0908)
6 « (Prob)
« .6364(R2=.6364)rt «

« 05



«

(R2 change = .0325)
7

Ve

69.04

(R2 change = .0117)
10

63.64
3.25

(Integ)
.6717(R2=.6717)

05

67.17

3.53(R2 change = .0353)
)« (Refer)
6787 (R2=.6787)
05

.70(R2 change = .0007)
. (Trans)
.6904(R2=.6904 )
05
«
1.17
(Heal)

6049 (R=. 6949)

94

67.87



0ta

45 (R2 change = .0045)

69.49

95



96

20 « ()

(Beta)Nan b «

« Beta b SED t
(Coer) 2715 - 7902 -3.3079 -12.181
(Age) 8642 3176 7.8226  9.052*
(Rewa) 1581 3214 11088  7.011
(Legit) 3057 -1.0709 -3.9773 -13.010
(Exper) 3360 1.0242  3.7312  11.106
(Prob) 3565 3847 2.1541  6.041
« (Integ) 2792 - 3980 -1.8573 - 6.652*
(Refer) 2184 - 2194 - B44T  -3.866%
(Trans) 3247 - 1968 -1.0981  -2.381*
(Heal) 5249 - 2512 15568  2.966*

R = .8336 S.E.est = 13.p3
R2 = 6949 Constant = 249.46
Overall F - 63.38*

*P < .05

20 « « 10
« 8336 «
« « 10

«
« 10 «
.05



« {

«

Y' = 249.46- 3.307Coer +7.822Age + 1.108 Rewa - 3.977 Legit
+3.371 Exper + 2.154 Prob - 1.857 Integ - .844 Refer
- 1.098 Trans + 1.556 Heal

2’ = - 790 Coer + 317 Age + 321 Rewa - 1.070 Legit

+ 1.024 Exper + .384 Prob - .398 Integ - .279 Refer
- 198 Trans -.251 Heal
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